Geometry Name

Arc Length Date Period
Find the length of each arc. Leave answers in terms of pi.
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Find the length of each arc. Round your answers to the nearest hundredth.
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Find the length of each arc. Leave answers in terms of pi.

5) r=11mi, 8 =120° 6) r=10cm, @ =45°
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Find the missing value. Leave answers in terms of pi. 5 - _b_s-' m

7) If S=4nft and 8 = 120°, what is the radius? 8)IfS=8mnmandr=13.5m, what is the central angle?
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Find the length of each indicated arc. Round answers to the nearest thousandth. Assume any segment that
looks like a diameter is a diameter.

9. Find the length of RPQ. 10. Find the length of ON.
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Geometry Name

Sector Area Date Period

Find the area of each sector. Leave answers in terms of pi.
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Find the area of each sector. Round your answers to the nearest thousandths. >~
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Find the missing value. Leave answershlm\{terms of pi. I 43 l{ Li 0
7) If Asector = 1670 in? and O = 45°, what is the radius? 8) ) If Asector = 167 in? and © = 45°, what is
\ o 45{*?' = 5?6 o the radius?
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Find the area of each indicated sector. Round your answer to the nearest thousandth. Assume any segment
that looks like a diameter is a diameter.

9. Find the area of the sector formed by of RPQ. 10. Find the area of the sector formed by ON.
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